SYDNEY GIRLS HIGH SCHOOL

YEAR 11 MATHEMATICS

YEARLY EXAMINATION
SEPTEMBER 2005

Time allowed: 90 minutes

Topics: Chapters 1-10 (J&C)

Instructions:

There are Four (4) questions. Questions are of equal value.

* Attempt all questions.

Show all necessary working. Marks may be deducted for badly arranged work,

Start each question on a new page. Write on one side of the paper only.

Name:

QUESTION ONE

a) Simplify +/45 —3(/5 /%) @

b) Harvey Ross increases the cost price of an ipod by 35% and gives a particular
customer discount df 8%. If the customer paid $378.95, find the cost price of
the ipod for Harvey 7 Answer to the nearest dollar. 3)

c) Bxpress 0. 13 as 2 fraction 2)

2
DIf a=645, b=5.76 and ¢ =21.9 ,evalnate a +\/Z?_ correct to 3 significant
c

figures, @

€) A number is added to its reciprocal #nd the answer % .Write down an equation

and use it to find the number . 3)

1) Solve for x

¥ —8x=0 @)
DI f(x)=9%" —6x+2, evaluate f(2)+ {-3) 0A)
h) Express m in simplést exact form @)
cos45
i) Solve f2x—1|<7 @)




QUESTION TWO

a) The line x+y =1 meets the circle ¥ +y* =9 at A and B.

i} Sketch this information on a clear diagram

ji) Shade the region defined by x* +y* <9 and x+y31
n—6 3n

b) Solve Fm=n—1
4

) Draw a separate sketch of the following , showing all the main features
a) y= [2 x[ -3

by y=8x-—4x

d) If secd =§ and & is acute, finid the exact form of cosecd and fané.

¢) Find the exact valug of

D) sin330°
i) tan 5107
=2 -3 )
f) Express — yx as a single fraction in its lowest terms.
a

@

&)

)

@)

Bo)

@
®

@

QUESTION THREE

'a) Inthe diagram shown ZP is an obtuse angle.

i) Find the size of £Q 1o the nearest minute ©
if) Find the size of £P ‘o
@

i) Find the length of RO

b) State the domain of the following

Flx)y=-lx—3—~/5-x @

c) State the domain and the range of y = —J/4—x* )
d) Detarmine whether the following fumétion is odd, even or neither. (3)

L flx) =75 —6x—~4
2)

e) Find the value of x if 4% equals one quarter of 2%

f) Salve the following equations for 0° €8 <360°, to the nearest degree ®)
i) tanf =1.4
i) 8cos® @—1=0

i) 2sin @ =3cosd




QUESTION FOUR

)
8) Simpli fy cosec x2 cot” x @)
cos” x
b) In the diagram , AD = 4AB and £4DC = ZBAC
1) Find the size of @ @)

1) If DCis 5cm , find the length of AB 2)

A

¢) The points A , B and C are équally spaced on the circumférence of a circle
of radius x . Find the area of the triangle ABC in terms of x. @
d) Sliow that (sind+cos8) + (sind—cos6) =2 2)
e) The vertices of the triangle ABC are the points A(0,0), B(0,2yand C(3,-1).
1) Draw a sketch diagram of the triangle. (1
‘i) The point K on BC is such that AX is perpendicular to BC. Find
‘the coordinates of K, and show tfxc point K on 3}0ur diagram (2)
i{i) Find the area of the triangle ABC €3]
1) Find the equation of the straight line which passes through the point of

intersection of 3x~y+4=0 and x+2y+3 =0 and is paralle] to '€))

3y—x+2=0. -

g) Eliminate & from the following equations 3)

x=5gin’g
y=4cosf

— End of Exam —-
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